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1. ïéõˆ¶ÍÛ¶ÛÛé …ÛÈÛïõ …¶Ûé ÁõÛé›÷•ÛÛÁõà¶ÛÛé ÜÍÛ±ùÛ×©Û ÍÛ¾Û›ÛÈÛÛé. 14 
 Explain the income and employment theory of Keynes. 

    …¬ÛÈÛÛ/OR 

 (a) ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ¶ÛÛé ˜Û’õÛïõÛÁõ ¸ÛóÈÛÛÐü ÍÛ¾Û›ÛÈÛÛé. 
  Explain the circular flow of National Income. 

 (b) …ÛÈÛïõ …¶Ûé ÁõÛé›÷•ÛÛÁõà¶Ûä× ¸ÛóÜÉÛÌ¤ø ¾ÛÛé¦éøÅÛ ÍÛ¾Û›ÛÈÛÛé. 
  Explain the classical model of Income and employment. 

 

2. ïéõˆ¶ÍÛ¶ÛÛé ÈÛ¸ÛÁõÛÉÛ …×•Ûé¶ÛÛé ¾Û¶ÛÛéÈÛíéßÛÛÜ¶Ûïõ Ü¶ÛýÛ¾Û ÍÛ¾Û›ÛÈÛà ÍÛÛ¸Ûé“Û …ÛÈÛïõ¶ÛÛé ÜÍÛ±ùÛ×©Û ˜Û˜ÛÛë. 14 
 Explain the psychological law of consumption of Keynes and discuss the relative income 

theory. 

    …¬ÛÈÛÛ/OR 

 (a) ïõÛýÛ¾Ûà …ÛÈÛïõ¶Ûà ¸ÛÜÁõïõÅ¸Û¶ÛÛ ÍÛ¾Û›ÛÈÛÛé. 
  Explain the permanent income hypothesis. 

 (b) œ÷ÈÛ¶Û˜Û’õ¶ÛÛ ”ýÛÛÅÛ ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 
  Write short notes on the concept of life cycle. 

 

3. ¾Ûæ¦øà¶Ûà ÍÛà¾ÛÛ×©Û ïõÛýÛÙ“Û¾Û©ÛÛ¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛà ¾Ûæ¦øà¶Ûà ÍÛà¾ÛÛ×©Û ïõÛýÛÙ“Û¾Û©ÛÛ¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ× ¸ÛÜÁõ¼ÛÇÛé 
˜Û˜ÛÛë.    14 

 Explain the concept of marginal efficiency of capital and discuss the effective factors of 
marginal efficiency of capital. 

    …¬ÛÈÛÛ/OR 

 (a) ÍÈÛÛýÛ«Û ¾Ûæ¦øàÁõÛéïõÛ¨Û …¶Ûé ¸ÛóéÜÁõ©Û ¾Ûæ¦øàÁõÛéïõÛ¨Û ÍÛ¾Û›ÛÈÛÛé. 
  Explain autonomous investment and induced investment. 

 (b) ¾Ûæ¦øàÁõÛéïõÛ¨Û …×•Ûé •ÛÜ©ÛÈÛµÛÙ¶Û¶ÛÛé ÜÍÛ±ùÛ×©Û ÍÛ¾Û›ÛÈÛÛé. 
  Explain the accelerator theory of investment. 
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4. IS-LM ¾ÛÛé¦éøÅÛ …ÛïèõÜ©Û¶Ûà ¾Ûþùþù¬Ûà ÍÛ¾Û›ÛÈÛÛé. 14 
 Explain the IS-LM  model with the help of figure. 

            …¬ÛÈÛÛ/OR 

 (a) IS-LM ¾ÛÛé¦éøÅÛ …¶Ûé ¶ÛÛ¨ÛÛ×ïõàýÛ ¶ÛàÜ©Û ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 
  Write short note on IS-LM model and monetary policy. 

 (b) IS-LM ¾ÛÛé¦éøÅÛ …¶Ûé ÁõÛ›÷ïõÛéÌÛàýÛ ¶ÛàÜ©Û ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 
  Write short note on IS-LM model and fiscal policy. 
 

5. ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ”ÛÁõÛé ›÷ÈÛÛ¼Û ¸ÛÍÛ×þù ïõÁõà¶Ûé ÅÛ”ÛÛé : (¼ÛÐäüÈÛíéïõÜÅ¸Ûïõ ¸ÛÍÛ×þù•Ûà¶ÛÛ ¸ÛóÊ¶ÛÛé ¸Ûó©ýÛéïõ¶ÛÛé 1 •Ûä¨Û) 14 
 Choose the correct answer from the following and write : (Multiple choice questions - 

each question carry 1 mark) 

 (1) ¸ÛóÜÉÛÌ¤ø …¬ÛÙÉÛÛÍªÛà…Ûé¶ÛÛ ¾Û©Ûé ¾Ûæ¦øàÁõÛéïõÛ¨Û - ¼Û˜Û©ÛÛé ¬ÛÛýÛ, ©ýÛÛ× ïõýÛä× ¸ÛÜÁõ¼ÛÇ Ü¶ÛµÛÛÙÜÁõ©Û ¬ÛÛýÛ ™öé ? 
  (a) ½ÛÛ¦ä×ø  (b) ÈÛé©Û¶Û 
  (c) ÈýÛÛ›÷  (d) ¶ÛºõÛé 
  Which factor is determined when Investment = Saving, according to classical 

economist ? 

  (a) Rent   (b) Wage 

  (c) Interest (d) Profit   

 (2) Y = C + I + G ÍÛ¾ÛàïõÁõ¨Û ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ¶ÛÛ ïéõ¤øÅÛÛ “ÛéªÛÛé¶Ûé ÍÛÛ×ïõÇé ™öé ? 
  (a) ¼Ûé  (b) ªÛ¨Û 
  (c) ˜ÛÛÁõ  (d) …éïõ 
  How many sectors of National Income are being involved by the equation                

Y = C + I + G ? 

  (a) Two   (b) Three 

  (c) Four  (d) One   

 (3) ©ÛïÙõ¼Û±ù …¸Ûé“ÛÛ ¾Ûä›÷¼Û •ÛóÛÐüïõ¶Ûà ÍÛ¾Û©ÛäÅÛÛ …é¤øÅÛé 
  (a) ¾ÛÐü«Û¾Û ÍÛ×©ÛÛéÌÛ (b) ¾ÛÐü«Û¾Û ”Û˜ÛÙ 
  (c) ¾ÛÐü«Û¾Û ¶ÛºõÛé (d) ¾ÛÐü«Û¾Û Š©¸ÛÛþù¶Û 
  According to rational expectation, consumer’s equilibrium means  

  (a) maximum utility (b) maximum cost 

  (c) maximum profit (d) maximum production   

 (4) ÍÛà¾ÛÛ×©Û ÈÛ¸ÛÁõÛÉÛÈÛèÜ«Û¶Ûä× ¾ÛæÅýÛ = _______  
  (a) MPC = 1 (b) MPC > 1 

  (c) O < MPC < 1 (d) MPC = 100   

  The value of marginal propensity to consume = _________  

  (a) MPC = 1 (b) MPC > 1 

  (c) O < MPC < 1 (d) MPC = 100   
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 (5) ÍÛÛ¸Ûé“Û …ÛÈÛïõ¶ÛÛé ÜÍÛ±ùÛ×©Û …Û¸Û¶ÛÛÁõ …¬ÛÙÉÛÛÍªÛà¶Ûä× ¶ÛÛ¾Û ÉÛä× ™öé ? 
  (a) Ü»õ¦ø¾Ûé¶Û (b) ¦øÀæ¡éö¶Û¼ÛÁõà 
  (c) ïéõˆ¶ÍÛ  (d) ÜºõÉÛÁõ 
  What is the name of economist who gave the relative income theory ? 
  (a) Friedman  (b) Dusenberry 
  (c) Keynes (d) Fisher  
 (6) ÍÛÁéõÁõÛÉÛ ÈÛ¸ÛÁõÛÉÛÈÛèÜ«Û (APC) = _______  

  (a) 
Y
C   (b) 

C
Y 

  (c) 
∆C
∆Y  (d) 

∆Y
∆C   

  Average propensity to consume (APC) = _________  

  (a) 
Y
C   (b) 

C
Y 

  (c) 
∆C
∆Y  (d) 

∆Y
∆C   

 (7) ›Ûé ÈýÛÛ›÷¶ÛÛé þùÁõ (i), ¾Ûæ¦øà ÍÛÛµÛ¶Û¶Ûà …¸ÛéÜ“Û©Û …ÛÈÛïõ (R) ïõÁõ©ÛÛ× ÈÛµÛä ÐüÛéýÛ, ©ÛÛé ¾Ûæ¦øà¶Ûà ¾ÛÛ×•Û 
_________  

  (a) –Û¤øÉÛé  (b) ÈÛµÛÉÛé 
  (c) …˜ÛÇ ÁõÐéüÉÛé (d) (a) …¶Ûé (b) ¼Û×¶Ûé 
  If the rate of interest (i), is more than expected income (R) of capital asset, then the 

demand for capital will 
  (a) Decrease  (b) Increase 
  (c) Constant (d) (a) and (b) both  
 (8) ¾Ûæ¦øàÁõÛéïõÛ¨Û …¶Ûé ÈýÛÛ›÷¶ÛÛ þùÁõ ÈÛ˜˜Ûé¶ÛÛé ÍÛ×¼Û×µÛ = _________  
  (a) µÛ¶Û  (b) Þô¨Û 
  (c) ÉÛæ¶ýÛ  (d) Š¸ÛÁõ¶ÛÛ¾ÛÛ×¬Ûà ïõÉÛä× ›÷ ¶ÛÜÐü 
  The relationship between investment and rate of interest is = _________  
  (a) Positive  (b) Negative 
  (c) Zero  (d) None of above   
 (9) Š©¸ÛÛþù¶Û ¸Û±ùÜ©Û¶Ûà ïõÛýÛÙ“Û¾Û©ÛÛ ÈÛµÛé ©Ûé¾Û ¾Ûæ¦øà¶Ûà ÍÛà¾ÛÛ×©Û ïõÛýÛÙ“Û¾Û©ÛÛ _________  
  (a) ÈÛµÛÉÛé  (b) –Û¤øÉÛé 
  (c) …˜ÛÇ ÁõÐéüÉÛé (d) (a) …¶Ûé (b) ¼Û×¶Ûé 
  As the efficiency of production method increases the marginal efficiency of capital 

_________. 
  (a) increase  (b) decrease 
  (c) constant (d) (a) and (b) both   
 (10) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛÛ Ðéü©Ûä ¾ÛÛ¤éø ïéõˆ¶ÍÛ¶ÛÛ ¾Û©Ûé ¶ÛÛ¨ÛÛ¶Ûà ¾ÛÛ×•Û ¬Û©Ûà ¶Û¬Ûà ? 
  (a) ÜÈÛÜ¶Û¾ÛýÛ (b) ÍÛ×©ÛÛéÌÛ 
  (c) ÍÛÛÈÛ˜Ûé©Ûà (d) ÍÛ¤Õø¤øÛé 
  For which of the following purpose according to Keynes, the demand for money is 

not be decided ? 
  (a) Transaction  (b) Utility 
  (c) Precaution (d) Speculate   
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 (11) IS-LM ¾ÛÛé¦éøÅÛ ïéõ¤øÅÛÛ ¸ÛÜÁõ¼ÛÇÛé ÈÛ˜˜Ûé¶Ûà ÍÛ¾Û©ÛäÅÛÛ þùÉÛÛÙÈÛé ™öé ? 
  (a) ˜ÛÛÁõ  (b) ¸ÛÛ×˜Û 
  (c) ™ö  (d) Š¸ÛÁõ¶Ûä× …éïõ¸Û¨Û ¶ÛÜÐü 
  Between how many factors does the IS-LM model indicate equilibrium ? 
  (a) Four   (b) Five 
  (c) Six  (d) None of the above   

 (12) IS Áéõ”ÛÛ¶Ûä× ¸Ûó©ýÛéïõ Ý¼Ûþäù ÉÛä× þùÉÛÛÙÈÛé ™öé ? 
  (a) ¾Ûæ¦øàÁõÛéïõÛ¨Û = ¼Û˜Û©Û 
  (b) ¶ÛÛ¨ÛÛ¶Ûà ¾ÛÛ×•Û = ¶ÛÛ¨ÛÛ¶ÛÛé ¸ÛäÁõÈÛ¥øÛé 
  (c) …Û¸ÛéÅÛ ÁõÛÌ¤ÖøàýÛ …ÛÈÛïéõ ÍÛ¾Û©ÛäÜÅÛ©Û ÈýÛÛ›÷þùÁõ 
  (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïéõýÛ ¶ÛÜÐü 
  What is indicated by each point of IS curve ? 
  (a) Investment = Savings  
  (b) Demand for Money = Supply of Money 
  (c) Equilibrium rate of interest at given National Income 
  (d) None of the above   

 (13) ïéõˆ¶ÍÛ¶ÛÛ ¾Û©Ûé …¬ÛÙ©Û×ªÛ¶Ûà ÍÛ¾Û©ÛäÅÛÛ ÍÛÛ¾ÛÛ¶ýÛ Áõà©Ûé Ð×ü¾ÛéÉÛÛ ÉÛîýÛ ÐüÛéýÛ ™öé  
  (a) ¸Ûæ¨ÛÙ ÁõÛé›÷•ÛÛÁõà…é (b) …¸Ûæ¨ÛÙ ÁõÛé›÷•ÛÛÁõà…é 
  (c) ¼Û˜Û©ÛÛé ÈÛµÛé ©ÛÛé (d) Š¸ÛÁõ¶Ûä× …éïéõýÛ ¶ÛÜÐü 
  According to Keynes, the equilibrium of economy is generally always possible at 
  (a) Full Employment  
  (b) Less than full employment 
  (c) Increasing in Savings 
  (d) None of the above   

 (14) LM Áéõ”ÛÛ¶ÛÛé §øÛÇ 
  (a) Þô¨Û  (b) µÛ¶Û 
  (c) ÉÛæ¶ýÛ  (d) …¶Û×©Û 
  The slope of LM curve is _________. 
  (a) Negative  (b) Positive 
  (c) Zero  (d) Infinite 

 
_____________ 


